Vector calculus MA2VC 2014-15 — Assignment 2
SOLUTIONS

(Exercise 1) Consider the curve a(t) = t2 + 125 + 3k for —1 < t < 1 and denote by T its path. Compute
the line integral over I' of the vector field F = Y27 + 2zyj.

(Version 1.) We can compute directly the line integral:
=i+ 2tj + 3%k,

)
( 1) = (d2(t)"3 + 28 (1)a@x(1)] = (2)%2 + 2t 2] = t13 + 265,
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(Version 2.) We can also verify that ¢ = zy? is a scalar potential of f‘, ie. ﬁcp = f, and use the fundamental
theorem of vector calculus (45):

/Fﬁ. dF = o(8(1)) — p(A(-1) = p(i+ j+ k) — p(—i+j— k) =1— (1) =2.

(Exercise 2) Consider the following four curves:

F4(t) = sint 4 + cos 44t j + sin 5t k —ggtgg,

dp(t) =(t+1)i+(t+1)5+(+1)k -1<t<1,

ac(t) =t — t125 — %k —1<t<1,
4 . 1

5 t:(——)“ i j 0<t<1,

ap(t) = (17 @+ )+1+t(1 K <t <

Denote by ' 4, I'p,I'c and T'p the corresponding paths. The integrals of the field F defined above over I'y,I'p,I'c
and T'p give the following values, listed in ascending order: —2,0,2,32. Associate to every curve the value of
the corresponding line integral. Justify your answer.

We first note that the field ‘ F is conservative‘ on the whole of R3: this can be verified either by computing
the scalar potential ¢ = zy?, or by verifying that F is irrotational (6 x F = (2y — 2y)l§: = 0) and that F is
defined in the whole of R? (see Remark 1.58).

Since F is conservative, by the fundamental theorem of calculus 2.12, the value of its line integral along a
certain path depends only on the value of ¢ at the path’s endpoints. We compute the endpoints of all paths:

4 hasendpoints &4(—7/2) = —i+j— k, 8a(n/2) =i+ 7+ k;
'z has endpoints &p(—1) =0, ap(1) = 2 + 47 + 8k;
Pc  has endpoints  &c(—1)=2—j—k, dc(1) =2 —j— k;
Ip hasendpoints &p(0) =2+ 7+ k, dp(1)=—-i+j5—k

Now we can use the endpoints in two ways.
(Version 1.) From Theorem 2.16 we deduce:
e since I' 4 has the same endpoints of the path I' of Exercise 1, the corresponding line integrals coincide;
e I'c is a loop because &c(—1) = d¢ (1), thus by Theorem 2.16 its line integral is zero;

e I'p has the same endpoints of the path I' of Exercise 1 but the order of the endpoints (thus the orientation)
is reversed, so the corresponding line integrals have the same absolute value and opposite signs;

e the endpoints of I'p are not related to those of I', so we cannot immediately deduce the value of the corre-
sponding line integral.

We conclude:

/f-df’:/f‘-df’:2, /f‘~d1‘~’:0, /f-dF:f/f-dF:fQ,
Ta I T'e I'p I

and the remaining value in the list gives the remaining integral fFB F. df = 32 (we can easily verify this value
using the scalar potential and the fundamental theorem of vector calculus or computing directly the line integral).



(Version 2.) We can also compute the integrals by using the fundamental theorem of vector calculus 2.12
and the scalar potential ¢ = zy?:

>

/ﬁ~df’:gp(i+j+ )it i k) =2, /f‘-df’:<p(2i+4j+8fc)—gp(6):32,

FA 1—‘B
/ﬁ.df:w(afjfk)w(afjfk):o, /f‘~df’:cp(—‘+jfl%)—gp(i+j+l%):—2
FC FD

(Exercise 3) Compute the double integral of the field f = IT” over the region
“ ~ 2 1ry

R:{m+ygeR L0<z<2,0< 5(—+1) <1}.
T

(Version 1.) We note that R is defined by the fact that two quantities (z and (% + 1)), depending on z
and y, belong to two intervals ((0,2) and (0, 1), respectively). Denoting by & and 1 these two functions of z and
y, we obtain the change of variables

gzx,

Loy
- (¥ 1)
g 2<x+ ’

which maps R into the rectangle T(R) = {£€ + A, 0 < £ < 2,0 < n < 1}. The inverse change of variables is:
=g,
{y =&(2n - 1),
from which we obtain the Jacobian determinant
s o1 a) 2
The integral is computed using the change of variables formula (53):

[ [, e el [ s ]

(Many other changes of variables are possible, the one above seems to be the simplest. The change of variables
for y-simple domains proposed in example 2.30 in the notes coincides with this one.)

(Version 2.) Alternatively, one can use the equivalences

1/y Y+
o<§(—+1)<1 — 0<% 9 = O<ytr<2t = —z<y<uz
X T

to rewrite the domain as R = {28+ yj € R?, 0 < 2 < 2, —x < y < z} (from this expression it is clear that R is
the triangle with vertices 0, 2% — 27 and 2% + 2j) and use a simple iterated integral:

2 x 1'+y 2 y2 T 2 T - 2
//Rf(z,y)dzdy/o [1 . dydz/o <y+g) y_md:c/o <x+§)<x+§)dz/o 2zdx = 4.




(Exercise 4) Consider the following subsets of R3 (T,U,V,W, X,Y,Z). Which of these are:
(i) the path of a curve,

(i1) the path of a loop,

(iii) a two-dimensional (flat) region,

(iv) a graph surface,

(v) the boundary of a domain,

(vi) the level set of a scalar field defined on R3,

(vii) an oriented surface,

(viii) a domain?
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Figure 1: The sets considered in Exercise 4.

In the left plot the graph surface (defined on the unbounded region R = R?) is T. Its intersection with the
xz-plane (the thick line) is the path Y.

In the centre plot the surface of the ellipsoid is V; the bounded domain U is the portion of space enclosed by
V and the unbounded domain Z is the portion of space outside V.

In the right plot, the ellipse in the zy-plane is W; the elliptical loop in the zz-plane is X. Moreover W is the
intersection of U with the zy-plane and X is the intersection of V' with the xz-plane.

To classify these sets we first need to understand their shapes. They are all plotted in Figure 1.
The first classification is in term of dimensions:

e X and Y are the only 1-dimensional objects in the list, so they are paths of some curves, while all the other
sets are not.
Are these curves also loops?

— X is an ellipse, so it is the path of a loop because any parametrisation of it must end in the same point
it starts from.

— On the other hand, Y is a parabola, so it is not a loop (it crosses every plane parallel to the yz-plane only
once, so it can not “return” to its starting point).

e U and Z are the only three-dimensional sets in the list. Since they are defined through strict inequalities
only, they are open sets, i.e. domains.
U is the portion of space inside the ellipsoid V', and Z is the part of space outside it.

e T V and W are two dimensional sets, i.e. surfaces. In particular they are all oriented surfaces. Moreover:

— Only W is a two-dimensional region, as it lies in the zy-plane.
T and V are curved, so are not subset of any plane.
— T and W are graph surfaces: in both cases the variable z can be expressed as function of the variables
z and y. For T we have z = %(1 — 22 — y?), while for W we simply have z = 0.
On the other hand, V is not a graph as the vertical lines crossing V' cross it in two points (e.g. the two
points +1/ V3k belongs to V' and lie on the same vertical line). In other words, V' is the union of two graphs
defined on the same region W: the graphs of gy = /(1 — 22 — 2y2)/3 and of gv— = —/(1 — 2% — 2y2)/3.
— T and V are boundaries: V separates the ellipsoid U from the exterior domain Z, so it is boundary
of both (V = U = 9Z); T is an unbounded surface separating the part of R? under it from the part
above it.
W is not boundary of any domain, as it does not separate the space in two parts.

What about level sets? The surfaces T' and W are already written as level sets for continuous scalar fields.
The domains U and Z and the region W can not be written as level sets of any continuous field (this is related



to the fact they are defined using strict inequalities). The paths X and Y can be written as level sets (see table
below), even if in all the examples we have seen in class the level sets were surfaces (the issue here is that they
are level sets for scalar field whose gradient vanishes on them).

Note that every set has a precise dimension (1, 2, or 3), so it is either a path, or a surface or a domain, and
cannot be classified as two of these objects simultaneously.

We summarise the discussion above in the following table.

T = {f" ER3 22+ 2y + 32 = 1}, (iv) graph surface of gr = %(1 — 2% —2y*) on R =R?,
(v) boundary of the (unbounded) domain
{Fe R3, 224+ 2y% + 32 < 1},
vi) level set of fr = 2% +2y* + 3z for A =1,
vii) oriented surface (A = V fr/|V fz]),

U={FfeR? 2°+2y° +32% < 1},
V={FeR? 2®+2y° +32" =1},

viii) domain (defined by inequalities only),

(
(
(
(v) boundary of U,

(vi) level set of fir = 2% + 2y + 32° for A = 1,
(vii) oriented surface (A = Vv /|Vfv]),

(

(

(

W = {FGRB, 2 4+ 2% + 322 < 1, z:()}, iii) 2D region,
iv) graph of constant field g =0 on R =W,
vii) oriented surface,

W can be considered also as a “2D domain” (viii),

1 R
X = {f’e RS, 2?2 4+292 +322 =1, y= 0}, (i) path of curve ax(t) = cost?+ —=sintk, t € [0, 27],

V3

(ii) dx is a loop because ax (0) = ax (27) (it is an ellipse),

(vi) level set of fx = (22 + 2y + 322 — 1) + 42 for A =0,

1 ~
Y = {f" eR3 22+ 22 +32=1, y= 0}, (i) path of curve ay (t) = t& + g(l —tHk, t €R,

vi) level set of fy = (z° 4+ 2y° 4+ 32 — +y% for A =0,
i) level ff 21092243212+ forA=0

Z = {f" eR? 2% +2y% + 322 > 1}, (viii) domain (defined by inequalities only).

In most cases, a good heuristic way to guess the dimension of a subset of R? from its analytical expression
is to count the number of equations in its definition: if there is none, then the set is three dimensional (e.g.
is a domain); if there is only one equation, then the set is two-dimensional (a surface); if there are two then
the set is one-dimensional (a path). The number of strict inequalities does not affect the dimension of the
set (in most cases this is true also for < and > inequalities, but not always, consider for example the sets
{2? < 0},{2? + v? < 0},{2? + y* + 22 < 0}). However, there are some cases where this technique does
not apply: for example the path X (defined above with two equations, as expected) can also be written as
X ={FeR3 (2% +2¢y* + 322 — 1)2 + y? = 0}).



